Wuiz 4 MATH 304 Section 3 Name: g ) lu%w/\/
{

To receive credit, the solution to problems will be clearly presented. Partial credit will not be awarded for problem
orked without comments. Unwanted work should be completely erased or clearly scratched out.

1. (i) For a matrix A, define the Null space of A. N 3 =
X s 5 _3 Nou [/\)f—“ welk Aw =/
. o . _ 0
(i) Ts w [ Z } in the Null space of [ f8 42 (1) } ) 1 0‘”«,{\ LIOT 6[5 /\/J/(A) C&?/ZS iSfS

NO § vectors bl wghiphal

- +o> A rsoHin D 3

s
w

2 =5 =3[ 3
_ -5 -
¢ 2 o3 [oq1]¢ [z ]|= +Lj<§:é-3+”/5t tz]_ [~

2. Use standard basis vectors to visualize how the domain is mapped to the codomain for the matrlx
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(i) Is @ in Span{vi, v3,v3}7?

@ (ii) If yes, then what are the coefficients for @ in the linear combination of {v, 3, '03}?
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